Soustraction Horizontale de Décimaux (J)

Calculez chaque différence.

39,26 — 2,7 = 812,2 — 65,8 =
147,62 — 6,50 = 805,248 — 90,28 =
228.1 — 2,454 = 69,211 — 1,4 =
86,21 — 3,890 = 812,6 — 206,82 =
301,878 — 9,1 = 59,875 — 56,229 =
651,819 — 49,14 = 6,20 — 2,14 =
184,20 — 32,680 = 46,75 — 1,38 =
458,57 — 2,3 = 77,83 — 14,6 =
27,832 — 5,157 = 934,1 — 20,12 =
050,82 — 19,82 = 91,8 — 21,7 =
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Soustraction Horizontale de Décimaux (J) Réponses

39,26 — 2,7 = 36,56

147,62 — 6,50 = 141,12

2281 — 2,454 = 225,646

86,21 — 3,890 = 82,32

301,878 — 9,1 = 292,778

651,819 — 49.14 = 602,679

184,20 — 32,680 = 151,52

458,57 — 2,3 = 456,27

27,832 — 5,157 = 22,675

950,82 — 19,82 = 931

Calculez chaque différence.

812,2 — 65,8 = 7464

805,248 — 90,28 = 714,968

69,211 — 1.4 = 67,811

812,6 — 206,82 = 605,78

59,875 — 56,229 = 3,646

6,20 — 2,14 = 4,06

46,75 — 1,38 = 45,37

77,83 — 14,6 = 63,23

934,1 — 20,12 = 913,98

91,8 — 21,7 = 70,1
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